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FACULTY OF COMMERCE

B.Com., I-Semester (Regular/Backlog) Examinations,
(2019, 2020, 2021, 2022 & 2023 Batches)

Financial Accounting-I

December-2023

Time: 3 Hours Max. Marks: 80

Section - A (Short Answer Questions) 5x 4=20M
Note: Answer any Five of the following questions not exceeding 20 lines each in case of theory questions.
SRSS Bod At DI B HHUD 6508 20 HoKet oS (epod (HHoo) warw (oS0,
1. Explain the various systems of accounting. 4M
ofoB80R @) DG 555720&) 500808,

2. Show that the accounting equation is satisfied after taking into consideration each of the following

transactions in the books of Mr.N.

MEN SRs o0t 800 oradboi $0HRsos S8 Sogs oToB0R $E8@o Sod)D BoBoL

SreHol.
(Rs.)
Started Business with Capital (@~80g Srogso) 1,00,000
Bought Furniture (3836 Sam) 25,000
Bought Goods for Cash (35& 8850 SHHen FIRH) 20,000

Withdrawn from Bank (ergo§ o& AasSoSe0oSAS SK®) 10,000

3. What is Journal Proper? What entries to be recorded in it? 4M
e Dty ©08 DB? wohe® SIn Batrgd Segen DD?

4. Enter the following transactions in simple cash book of Karuna. 4M

Sth EwE) e SKS é):_élgoé‘ 208 crarddoD SArG SoHod.

(Rs.)
1% April, 2021 Cash in hand B8&® $KS) 17,60
3% April, 2021  Purchased goods for cash from Rena
) e 008 SKS> S0 THfFer IVS SHHe) 7,500
6 April, 2021  Sold goods to Rohan (B°:5°5% DFowodS SHHen) 6,000
10™ April, 2021 Wages paid in cash @Bdrod 358 ErH50E® BRoT) 500
15™ April, 2021 Cash paid to Neena B 3oD) 3,500
17" April, 2021 Cash sales (31 osysew) 10,000
19 April, 2021 Commission paid ($2%S 320%) 700
21% April, 2021 Cash received from Teena (8 08 0B Src) 150

5. Ramesh has his account at National Bank, Hyderabad. According to his Cash Book, his bank balance on
31% March, 2021 was Rs.72,950. He sent cheques for Rs.90,075 to his bank for collection but cheques
amounted to Rs.43,769 were not collected by that date. Out of the cheques issued by him in payment of
his debts, cheques for Rs.29,344 were not presented for payment. Prepare Bank Reconciliation

Statement. 4M
ST 85 B53S empE, BoerE6® 835 e SON aTh. ©8 SKD Hko B0, 31 Hrly, 2021 I

©3D ergos ergBY) Gm1.72,950. ©8% 8r1.90,075 & Jpen S %S0 ey Sod. ©3d 2D
Byen 621.43,769 © 38 A8 Stren S0EB. 835 &b IDS Bﬁ)&oﬁs &ru. 29,344 390 850
SoBioStdts. a8 Do HSE 47 Sasnt> Sabol.
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6. State with reasons whether the following are capital or revenue expenses. 4M
800 >89 Swrogso dov BIXT »)S° DEYSol.
i) Excise duty paid on purchase of new machine.
3 dhoFo e 3PS IZE Doso.
il) Wages paid to install a machine.
e dbojgnR 3S Jabeed8 3o S8ren.
iii) Repairs carried out on existing car.
a)88 &%) SO DESyHen I3epd.
Office block of building repainted for Rs.50,000.
&e1.50,000 088 HowotS Fahols gto @ns) edi® erb.

v) Paid telephone bill Rs.2,500.
BOPS Dep 3DoH &, 2,500.

iv,

<

7. Rectify the following errors. 808 $Spo $03chol. M

i) Credit sales to Mirdula Rs.5,000 were not recorded.
ol oY elysees 815,000 SErH 8.

il) Credit purchases for Nayan Rs.8,000 were not recorded.
39S 2008 ©HY ?3“‘4)‘ 51.8,000 33rcH S8,

iii) Goods returned to Priya Rs.12,000 were not recorded.
BS=SH 88A @S SHPeo &P 12,000 SIeE> B

iv) Goods returned from Rashi Rs.10,000 were not recorded.
o8 S0l 8BA IS SHen E=1.10,000 S B

8. On 1% April, 2010, Bajrang Marbles purchased a machine for Rs.2,80,000 and spent Rs.10,000 on its
carriage and Rs.10,000 on its installation. It is estimated that its working life is 10 years and after 10
years its scrap value will be Rs.20,000. Prepare machine account for the first four years by providing
depreciation on diminishing balance method. Accounts are closed on 31% March every year. 4M
1 5®S, 2010 & wesdoR HrEyd) e.8 abolg R &eu.2,80,000 H £5fen 3D0d HOEH o= S
&r1.10,000 SHdds» o= ;‘;:u.ss’ &1.10,000 »&) 3208, oD £98 scosn 10 SoSSoren HOA® 10
Sod&oro éu‘sé oo HKy Dend Ern. 20,000 © soSse Scholod. éd@:sa Ddexo ‘.’)6083 SH0S0
Sitfo oyoe s eotd JoSoren DAS grEn S Sahol. ($8 SosHHBo $»Y) 31 S e
SordIchataron.

Section - B (Essay Answer Questions) 5x 12=60M
Note: Answer the following questions in not exceeding 4 pages each in case of theory questions.
SIS (800 (BHoD 8% o008 4 DhoH oSV (Mo BHOD) aTred (Fabsn.

9. a) Define Accounting. Explain its objectives, branches advantages and limitations. 122M
©T080RH JgDoSod. T OFTID, TP, FDraT D $8cn I8DHOD IS380Sold.
OR(Bc»)

b) Mr. B is a trader dealing in electronic goods who commenced his business in 2021. For the following
transactions took place in the month of March 2021, pass journal entries and prepare ledger. 12M
Mr. B 2021 6 85 agonQ) (3509003 JolgIE ShHo T50. $08 e-dden $28) 2021 Jos®

0o, ey Sthen oD, S SaRS Schol.
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1% March, 2021 Purchased goods from Y & Co. on credit Rs.60,000

o D& Y & Co. S0l Foffe 303 SKpeo &e1.60,000
5™ March, 2021  Sold goods to D & Co. on credit Rs.30,000

059 6 D & Co. 8 ShHod HFavomdd rn.30,000
8™ March, 2021  Paid Y & Co. through bank in full setiement Rs.58,000

378 5030 e50§ oo BRoDSD Y & Co. &eu. 58,000

10" March, 2021 D & Co. accepted a bill drawn by Mr.B Rs.30,000
Mr.B &m1.30,000 (o> 30& e D & Co. ©3»80D08.

15" March, 2021 Sold goods to Mr.L on credit Rs.20,000
oD MrL & 5P Ygavoms> G 20,000

18" March, 2021 Sold goods to Mr.M on credit Rs.40,000
05 DS MM 8 ShHodH JFowodod &ri.40,000

20™ March, 2021 Received a cheque from Mr.M in full settlement and deposited the

same to the bank Rs.39,000
Gr8 36AmBore Mr.M %08 36 ©oHHmnth $H6ak T=dD &ri1.39,000

emsoB At B,

28" March, 2021 Goods returned to Y & Co. rs.4,000
Y & Co. & $5Ppeo BBA T*Hoen &mu.4,000

29" March, 2021 Mr.L became insolvent and only 90 paise per rupee is received by

cash in final settlement
Mr.L aror 53> $080H0 $8 363Sorr Erans 90 Pe> SrFD

SKt Er506° @obmron.
31% March, 2021 Goods returned by Mr.M Rs.3,000 (Mr.M o0& a»5%en &»u.3,000)

10. a) What is the need for preparing subsidiary books? Give the proforma and explain the utility of each of
them. 12M
$38aH Depen SAeDH By 058860 DDB? 28 (HBOD ST asiel DO (SAreTY
D5B0Sol. OR@cr)

b) Compile three column cash book of Mr.Avyukth from the following transactions.
808 erarddo B0l § oS B8 S Sode KD PSR Sairs Jabold.

1% August  Mr. Avyukth started business with cash Rs.2,00,000
& oHE &m1.2,00,000 SK58° TooR) (FEodoT.

2™ August  Deposited into bank Rs.50,000 (&i1. 50,000 ersofhé® &dees BaHolod).
4™ August  Cash purchases Rs.5,000 (S5t S°&orfey &=n.5,000).
5" August  Purchases by cheque Rs.6,000 (8§ oo 5% &mi1.6,000).

6™ August  Goods sold on credit to Mr.Santhosh Rs.5,000
& $08°9% (BAS D& IEowodS SHHew &ri.5,000.

8™ August  Received cheque from Mr.Gowtham Rs.490, Discount allowed Rs.10
& 8% S0l 8rn.490 3§ woHHTND, &0 Eri. 10 0H5HB8oSolod.

10" August  Paid carriage Rs.1,000 (&m1,1,000 Ssve 30050808).

12" August  Withdrew from bank for office use Rs.10,000
adbd as@rro 5850 u-;oE Hol é:»g::sep &i1.10,000.
18" August Paid to Mr.Raman Rs.4,960, discount allowed by him Rs.40
& oSO E1.4,960 3oSwl08, &J%0E x40 S08.
31% August Received a cheque for Rs.4,950 from Mr.Santhosh in full settlement of
his account, which is deposited into bank
e @) FrB S0XWore § Bo8'R Hol 614,950 & BLH GoHHTHD.

2B erjoHe® Adal Sabalod.

12M
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iliati ? Give its format. 12M
i nciliation statement? Why it is prepared? B
e :V-;:é get)saon ‘.(6:;2@ 58 0B SDB? 50 o ST Bahotodod? 83 SSwrae BeaSol.
v ® 202
i i ili tatement as on 31% December, 0.
b) From the following particulars, prepare Bank Reconcrllftlon S te
O e O oy A00f, 2020 w6 a0 fexo Sissa 38D datnt> Jabod. 12M

i) Debit balance as per cash book Rs.10,000.
$KtH HFBo (S0 DS Do & 10,000.

i) A cheque for Rs.500 issued in favour of Karan has not been presented for payment.
S68% eEroon eb 303 den. 500 3y 390 8F0 $BB)oITLBE.

jif) A bill for Rs.700 retired by bank under a rebate of Rs.20, the full amount of the bill was credited
in the cash book.
Bren. 20 6@0&’» 808 argo% oxo° BES @onS &ri. 700 Dex,
$3rtH Savolod.

iv) A cheque for rs.295 deposited in the bank has been dishonoured.
ar5oH8® Ar2eS IHS Eri.295 By o EGm Sobod.

v) Asum of Rs.800 deposited in the bank has been credited as Rs.80 in the pass book.
Er50%6° i B0S &e1.800 B HyEos® Ern.80 e abIddalod.

vi) Payments side of t he cash book has been undercast by Rs.200.
SK HBEo @nY) 3oHo 3P trn. 200 K5 SrLolod.

12. a) On 1% July, 2017 a company purchased a machine for Rs.3,90,000 and spent Rs.10,000 on its
installation. It decided to provide depreciation @ 15% per annum, using written down value method.
On 30™ November, 2020 the machine was sold for Rs.1,00,000. On 1% December, 2020 the company
acquired and put into operation a new machine at a total cost of Rs.7,60,000. Depreciation was
provided on the new machine on the same basis as had been used in the case of the earlier machine.
Prepare machinery account and depreciation account for four year ending 31* March, 2021. 12M
1 998, 2018 3 25 Ko &1.6,00,000 & 2.5 aholg~d) EHifer Fhod 26 Tavcre 558
.‘Soéé‘)u-as 10% S&H80 éc;on :)gonoaob. 1 J®S, 2019 $ & ado|go . 5,00,000 8
YamoSolod. &3 863 50D &m.8,00,000 pEns° 58 aholeeR) Fifer 3hob. wHBB aholo
D5abod’® aS@PACDN SEB errBore §°F dboigod Srbde Sgalod. 31 5°8), 2021 & JwAd
Sarey BoSEHT 0D abolgre FrevSH HOKD SHIHSL rEcH SaEt Fabol.

OR(Bc)
b) Redtify the following errors in the books of Mr.A.
A 3sc08® & (80d 8o $03aod.
1) Sale of old furniture for Rs.2,000 treated as sale of goods.
>3 $6)36 oiySo &m.2,000 SHeo Agabore SOKBoSHECH.
li) Rs.12,000 paid of salary to cashier Mr.N, stands debited to his personal account.
&r1.12,000 sohah8 Mr.N % d3o 3000 03 S8K8 srars® 206 Savaltod.
iii) An amount of Rs.5,000 withdrawn by the proprietor for his personal use has been debited to
trade expenses a/c.
aDaSED I3 35858 adBrrio %0 A3B0F00SHHN) Er1.5,000 85 P FreeH THS Jaholod.
iv) Cash received from Mr.B Rs.300 was credited to Mrs.B.
Mr.B 508 D083 S5 621.300 Mrs.B & addchalod.
v) Repairs made were debited to building account Rs.100.
890R HBSYHOH IDS Eei.100 90R gre-S 3OS Sadalod.
vi) Rs.1,000 received as interest was credited to commission account.
Shre ©0HHF) Em1.1,000 5D3S pracs® ardabason.

vii) Rs.5,200 paid for the purchase of type writer was charged to office expenses account.
ET06 soifer 870 BPoDS Em1.5,200 ebi% st e 8 Sabedod. '

SK HZE0S® O Depre Bas

12M

Pn;a."-
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;3. a) What are the different stages in final accounts i
of sole tra i alcula
E;nf;r avnqm r:lm prot;rt of a sole trading concern? Illumativeﬁgplz?:mm? How Wil you el o
Prod o Bty L e s - . ’
P o8 & ;(: Gt Lohody grared’ LG Giw SInh? Pos oo Gnd re oao S =
D80 ermriy ao e BE)FSY? Gyfore Do, ’ b . -
—— OR(&cr)
e balance Mr.Li i
| r.Lishanth as on 31" March, 2021 is given below. You are required to prepare trading

and profit and loss account for the ye 31 2
after taking into account the given a;j':srtrf\rclﬂz Sl bt c:;tl'el

31 Lty 2021 FOL B, Hod & o witpnts o &

. 7L, zf)n 22 8 Darod Bud) wotn Lot niphot. 31 frty, 2021 & Lnhns Logmil
I8 e Lipe gree Sbdhn Bl Bl Holaits bl é 7 iy @by iy b
paR ’ IS S, 42 bl Sos @ 8L G el Wil o

[ Debit Balances (C445 ez en) Credit Balances (2845 Zieren)
Machinery (cboieea) P T e T
Opening stock (5607 H6) 60,000 | Interest received o
Purchases (Sicriey) 1,60,000 (24 s5p8) 3,000
Building (&5%0) 1,10,000 | Creditors (Cxacrien) 40,000
Carriage inward (27 en) 3,200 | Bank loan (0% &mo) | 55,000
Carriage outward (Sorw) 5,000 | Discount (2.779045) 2,000

,4 Wages (Zdmres) 32,000 | Capital (Zregio) 2,00,000
Debtors (Grsfiaen) 0,000
Salaries (Ze=es) 24,000
Fumniture (5£,55) 36,000
Trade expense (H5% 5C7pn) 12,000
Rent (s2) 1,900
Advertisement ((Z%455) 5,000
Bad debts (o0 oben) 1,800
Drawings (roé ortisen) 10,000
Bills receivable (z2E0is6rS Bagen) | 50,000
Insurance (o) 4,100
Bank balance (a;;oS 2exz) 20,000

Additional Information (Kgz¢2):
i) On 31”7 March, 2021, dlosing stock is valued at Rs.42,000.
31 8y, 2021 % ZFoY Sl Dends B, 42,000,
ii) Outstanding salaries Rs.4,000.
zemcn Sdares Gom.4,000.
iii) Provide reserve for bad and doubtful debts at 5% per annum.
o i BOCFRETH Gl Suaribrde 5% Euly GO,
iv) Deprediate buildings and machinery at 5% per annum.
Hosso Rt 5% TS ghen Zobdin dholsro DenSD ét;.o.’_‘,oc.
v) Interest on capital and drawings to be provided at 5% per annum.
ot Sobtin oS FETED SoTE 5% 3 STD.
»rR
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FACULTY OF COMMERCE
B.Com., I-Semester (Regular/Backlog) Examinations, December-2023
(2019, 2020, 2021, 2022 & 2023 Batches)

Business Organization and Management
Time: 3 Hours Max. Marks: 80

Section - A (Short Answer Questions) 5 x 4=20M
Note: Answer any Five of the following questions not exceeding 20 lines each.
eSS Bod VS OBV 0 (HHES 258 20 HoHEH WOV wTR (FALKD.

1. Aids to Trade ($5%0 Sahm8 vtcires) M
2. Limited Liability (5630 «rgiss) .
3. Statement in Lieu of Prospectus (H&=gsmch &$85a% Hgo) M
4. Levels of Management (985 r?g;o:oe») 4M
5. Formal Organization (©§s°6% K)og) 4M
6. Line Vs. Staff (8S Vs. 2z00) il
7. Power (38) 4M
8. Post Control (dcSolses $5:58) 4M

Section - B (Essay Answer Questions) 5x12=60M

Note: Answer the following questions in not exceeding 4 pages each.
BrSE: (808 (BHoH 285 8 4 Do oS aTead (@eakodn.

9. a) What is Business Organization? Explain the various forms of Business Organizations. 12M
TgFE Ko @08 DDB? THFY Soge GwE) D Srrod S5BoS08.
OR(Bxr)
b) Define Social responsibility of business. Discuss its scope and importance. 12M
TgB0 @¥) FETAE el AggDoBos. T H8§ Hbkw (DSoggE $8)oSod.

10. a) Explain the various documents required for registration of a Joint Stock Company. 12M
aPowots 8 Z02d $IDEN0 ©BIBERD DG JEredH DHdoSos.

OR(8)
b) Who is Promoter? What are his characteristics? Describe the various types of Promoters. 12M
B3re8 56? 03 ofrren IWB? IV Seo (BIreBd DHdobol.
11. a) Define Management. Discuss the characteristics and functions of management. 12M
Qe ABgDoSod. DB Te oferen So8kw DHeo HBoD SByoSod.
OR(dw~)
b) Explain the Henry Fayol’s 14 principles of Management in detail. 12M
D HErS (HBFB0DS 14 g Srlgeod DSydorr Dol
12. a) What is MBO? Explain its process, benefits and weakness. 12M
MBO @08 908? o (HBD, (BEramren HBa aorsdodH DBBoS0A.
OR(8cr)
b) Define Planning. Discuss its characteristics, process and types. 12M
(SerES DBgDoBos. T oFEre, (BB Hbdw St $Bosod.

13. a) What do you understand by Decentralization of Authority? Explain the principles, process and
importance of it. 12M
086 JEo|BE8m TRTe S D o THTYH? TR Irlgre, (BB HBA (FEwagEsH dSsoSod.

OR(Bor)
b) “Planning is forward looking, while controlling is backward looking.” Is this statement correct? If so,

explain in detail focusing on the requirements for effective control. 12M
‘e ot HrRfod BB Dol ¥ SrRPod.” & (PELS FBITT? ver vows,

SHBHSTD Dadhole E%0 wsiTre Kl F0od DSboBA.

o
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FACULTY OF COMMERCE
B.Com., III-Semester (Backlog) Examinations, December-2023
(2016, 2017 & 2018 Batches)
Advanced Accounting

Time: 3 Hours Max. Marks: 80

Section - A (Short Answer Questions) 5x ‘}=20M
Note: Answer any Five of the following questions not exceeding 20 lines each in case of theory questions.
4ns (Bof SRS TD o [BHeH wFHT02 20 JoHeH oS (degod BHoB) 2sred (FPCED.

1. What is Goodwill? aM
HEDS o3m3?

2. Bonus Shares aM
&SR Tt

3. Super Profit aM
©83H ergio

4. Partnership Deed 4aM

eiRmay edodo

5. Ram and Shyam are partners sharing profit and losses ratio of 3:2 Raju admitted 1/5 share in the profits
calculate new profit sharing ratio. 4M
TS HSc T Mé%oé) 3:2 Qwé‘ HoHE0tF. Toer O IrED Rt 1/5 Hod TErH

BrED rrIN Dgpommth. ©aNS FrES eSipe oD EWFV8.

6. Calculate fair value of share (o Dend SEBSE® ot DendSd EHF"TL). 4M

(Rs.)

Value on the basis of the net assets

L6 esipo HEBE® Trer Dend 125

Value on t he basis of the yield

ool 3’3%5865 ot Dend 140

Paid of share value

3Q0H WOAI Toer Dend 100

7. The following are the profits of a business for 3 years are 2007- Rs.70,000; 2008— Rs.60,000;
2009- Rs.80,000. Calculate Goodwill of the company at 2 years purchase of average profits.
z!:)#é éoé B oo DSoeen: 2007- egfo &mu.70,000; 2008-e~gfo &=1.60,000; 2009- ergfo

&=1.80,000. HEISZ Bod JodFore AeeSes Jen oogre SRenre gr0d aggoéod. 4M

8. XYZ Ltd. issued on 10,000 shares of Rs.100 each payable at Rs.20 on applications, Rs.50 on allotment
and the remaining balance on call. Applications were received for 9,000 shares and the shares were duly
allotted. All cash dues on allotment and call were received. Write the journal entries in the books of
company. 4M
XYZ ©BE 2.69%8 &mi.100 Sy 10,000 artreis> 28 S0b. GSFRP &, 20, SeravoyD
&mu.50, DHADBB DevHe D TPOSSBL. SEFTRR 9,000 Treoor Joesd Berowoy DahEo 2BASE.

Beravod S0P THODI InFo HIren wonId. Kod @ésvué‘s Dt:;éda:m oeaHod.
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Section - B (Essay Answer Questions) 5x 12=60M
Note: Answer the following questions in not exceeding 4 pages each in case of theory questions.
ErSS (B0 HHo w8 dd 4 DloH WoID (Depod BPED) TR (EARS.

9. a) How do you deal goodwill when a new partner is admitted into a partnership firm? Explain. 12M
D iR $096°8 (HIBoDIHE HWEISH BGOD JeTY oeahod.
OR(&c°)
s b) The following is the balance sheet of A and B (who share profits in the ratio of 3:2) as on 1% January,
2022. 12M

A 800 B en 3:2 4)86° eraro S0t erifgen 1 2558, 2022 &8 70 @O 288
& Dgorm aod.

Liabilities (@s’mw) Rs. Assets (aye0)
Creditors (99¢ aweceden) | 1,00,000 | Buildings (gSaren)
A Capital (A SoreESo) 1,00,000 | Plant and Machinery (Froen HBGEH abolgren)
B Capital (B Swrersdo) 1,25,000 | Stock (35%) 60,000
Debtors (axeaisen) 50,000
Bank (z50%) 50,000
3,25,000] 3,25,000

On this date, C was admitted on the following terms:
2 365 C % & (208 00K i EHTD.

i) He has to pay Rs.1,25,000 as his capital and Rs.50,000 as his share of goodwill for 1/5 share in
profits.
©8 &oi.1,25,000 SredSo &rin.50,000 HEDS 60% erered® 1/5 Hod FothH&rHmrd

H0HTTd.

i) New profit sharing ratio will be 5:3:2.
IrES ergRYB 5:3:2 e 4oénod.

i) The assets are to be revalued as under:
Buildings: Rs.1,25,000; Plant and Machinery: Rs.60,000; Debtors: Rs.47,500.
een S (308 DFEDT HIEToFoLR0 TATD:

FSaeen: Boon.1,25,000; Spotn HBAH abol@een: &ei.60,000; mqﬁégm: Goon.47,500.

iv) It was found that there was a liability for goods receiving but not recorded in books, Rs.7,500.
Give the journal entries to record the above. Also give the balance sheet after C's admission.
e HESRS $000§0DS &71.7.500 2ef IDoSBed 608 58 Jises® SAr SHH.

B SESFo0D DipHhen SIRDHID, WED SPOYO SGED SdiS> Do,

10. a) Explain various modes of Dissolution of a firm. 12M
28 g S0P 8 Dok VReoD e©T08oR TR DBBoBOS.
OR(Scr)
Page..2 of 5
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u3n :4::
=t 3
b) Balance Szeet of A and B as on 31" December, 2022 is shown under. 12M 35,000 artro Eogrien HEB0SEDIG, 10,000 srerord S5 GOFHimd 08 LeSEHIL.
31 &Roob, 2022 =8 A H06 B o o) e & & (Bob Jors B, - o e woREa
~ Liabilities (o qye) = e i = 15,000 srere S6gdes 10,000 atred Stronod, Dufer axro STy Coriod wohitos
Sundry Creditors (05 l, = ! o s 30K Both Bevdpods BODTD, 2.8 TREREED 500 TreD Boh benho Al oD,
{ l T i
| B L'y B £ (DD oncaceden) | 2,00,000 | Machinery (abots~e) 3,00,000 J5EFSore B 68y B, 200 FerOl> wEYPHS &80 © THS 8CA =& vt =E8
.“ ‘5 oan { ) ©)) ‘ 50,000 | Furniture (58):355) 50,000 $02080D% PEes &I, 15,000. S0 JIS0E* ©DIEDE DeFIRe oS08,
| A's Loan (A 3% o)) | 25,000 | Stock (3¢b%) 1,50,000
%:General Reserve (oo Bastios) ] 25,000 | Debtors (awesiiien) 1,00,000 ¢ 12. a) What do you,mean by Profit Prior to Incorporation? Explain the methods of computing profit prior to
| Ta i j 12zM
| Capi | -) Provision for Doubtful Debts incorporation.
| Cantal Accounts (oS wreren) | ClErm o‘fix(:nééé et ;UZ)‘E’ 5,000 STt Snoth ctfo GITAD? SIAnHS Swoth CrQ BYOS D DFHED D580TE.
‘; A 2,00,000 | 95,000 OR@cr)
‘ B 1,50,000 l 3,50,000 | Cash (X&) 55,000 b) From the information given below by Anil Enterprises Ltd. prepare profit and loss statement for the
6,50,000 650,000 | year ended 31% March, 2022. 3 i 1M
(add I, UV § .36 “«© = o5 ~ ¥ 1 &S Z0Toc
A and B were sharing profits and losses in the ratio of 3:2. They decided to dissolve the firm on the fné 005 BES INITE & & 800 BarToRY so8iuyt. 31 &), 2022 §" ok
date of the above Balance Sheet. The assets realized are as follows: Machinery: Rs.2,50,000; Stock: B0BHTVE oS FZ6EH Sartd Sapod.
Rs.1,25,000; Debtors: Rs.90,000. B took over Furniture at Rs.40,000. He also agreed to pay B's Loan. (Rs.)
The Sundry Creditors were paid off at a discount of 5%. During the course of realization it was found Sales (oxyseen) 15,00,000
that a bill for Rs.25,000 previously discounted by the firm was dishonoured and had to be paid Inventories (01.04.2021) (aBsoaéeu (01..04.2021))

realization expenses amount to Rs.10,000. Prepare Cash Account, Realisation Account and Capital

Accounts of partners to close the books of the firm. Raw materials and stores (:»& Sowgzes 00 ) 1,00,000
A 250 B o ogfSipod 3:2 IJBS° SoDhFotoTnd. P o] oo 38 883 Sogd vy Work-in-progress ($a5e86° &%) 36%) 40,000
SaireHTR. eROD oiYT & ($0d Ingren JJrGTow. abolgren &n.2,50,000 38HH Finished goods (3 Sa79sd HPen) 1,98,000
&1.1,25,000, aweidoe &e1.90,000. $§55 &71.40,000 £ B ST, 03t B @nd) o) Purchase of raw materials (£0& Scegre SR°EY) 9,00,000
ST 2O, aRTEOD 5% TS EIEE Yoo, DOVEFY $BoaHo&® . 25,000 £ Salaries and wages (deven $Ba Sdren) 60,000
002080908 &0 TaHED Depy ©TEBRD HP0d. ©d 3PoSHOD &HB. JBAY P Payment to auditors (s&&gs 390H) 1,08,000
&711.10,000. B0 HIystod S SHEE ©BIEDS K FrEed, HOAYS Fre oA grige Interest on income (écé &Tea0) 50,000
Sxreds pEre Saird Sabol. Dividend received (33)% 8980&) 70,000
11. 3) Define Equity Shares. Write the distinction between Equity Shares and Preference Shares. 12M Loss on sale investments (épae oXysod $50) 10,000
éags_é TtroD :)65001506.. éeé:}eﬁ Teered 0Ain e@ésq) o 3‘)31,‘5 Srod T°cHol. Interest on loan taken (éméj;é& o éé) 10,000
OR@Ecr) : Depreciation (85¢05e) 1,20,000
b) Chandra Co. Ltd. offgred to the public 20,000 equity shares of Rs.100 each at a premium of Rs.10 per Managing Director's remuneration (Fid@oR 3056 3-88%a50) 56,000
share. The payment is as follows. 12M ) ) - = '
S0l o2 DIDBE 20,000 H&B Stro 6P e 100 S &1 10 BHaDod® Hre Other information (@8 S&reedin):
=b63006. 3DoH FH Do & 808 ISore A[B. i) Inventories on 31.03.2022 (31.03.2022 ~8 assoaém)
(Rs.) ’ (Rs.)
On application (&55z52) 20 Raw materials and stores (sn& Sorgpen Sodaw 28) 60,00
On allotment (including premium) Work-in-progress ($a5r86* a3 356:%) 50,000
Eerapod (BDabo Sewnsn) 10 Finished goods (-8 SairBs S:%Hen) 1,52,000
On first call (God8 Densy) 25 i) Provision for doubtful debts Rs.36,000
On final call (956 HeoxyD) 25 Bodasrds wbeo S8 Doz & 36,000.
iii) Provision for taxation to be made at 50% of taxable income.
Applications received in total for 35,000 shares, applications for 10,000 shares were rejected, those 58 DBOBBIL errao 50% B Dok ahod.
totalling 15,000 shares were allotted 10,000 shares and the remaining applications were allotted in iv) Payment to auditors includes Rs.18,000 for other services.
full. The directors made both the calls. One shareholder holding 500 shares failed to pay the two SBOGHSH 385 3D0HS® 388 DD TS 30D e, 18,000 ad a0,
calls, as a consequence his shares were forfeited, 200 of these shares were reissued as fully paid @
Rs.80 per share, expenses of issue came to Rs.15,000. Pass the necessary journal entries in the
books of the company.
) Page..3 of 5 Page..4 of 5

Scanned with ACE Scanner



Code: 078/ET/BL

2]
13. 3) Explain various methods of valuing goodwill of 3 firm 12M
OEDS TFoT DG 2HSH0D IBBoIoE. ’
OR(8)
b) The balance sheet of Sai Ltd. 5 on 31 March, 2022. 12M
31.03 2022 &8 3L eRelpo 38 & (Bod orr 63e.
Liabilities (epen) Rs. Assets (epw) Rs.
8% 5,000 Preference Shares of Rs.10 each
89 5.000 8% oeeren 2 Goodwill
1 2 5 558 50,000 &5351 10,000
| am.10 Ty%
| 10,000 Equittys Shares of Rs.10 each —
10,000 Z:&s &% ixed Assets
&P reneo 280 1,00,000 | srten 1,80,000
10 TR o=
Reserves (including Provision for
taxation Rs.10,000) Investments (5% Govt. Loan)
Satiyes (S0 Doz &1.10,000 1,00,000 | Zuomcoen (5% @b o) | 20000
X ]
Bod 6:\4_3&17}
8% Debentures (8% &503%) 50,000 ;‘;;';";ﬁ;e . 1,00,000
. Preliminary Expenses
Creditors (zwoo=ge) 25,000 @raéla)'é mré_)wp 10,000
Discount on Debentures
&BosED &30S 5,000
3,25,000 3,25,000

The average profit of the company (after deducting interest on debentures and taxes) is Rs.31,000.
The present market value of the machinery included in fixed assets is Rs.5,000 more. Expected rate
of return is 10%. Evaluate the Goodwill of the company at five times of the super profits.

Eomb Sren oo (BBo38D 5& HBck Sinen WILFEWoIS So) Sm.31,000. Joeikee® Sod

&%) dbolgro Desd 67 Devd 0B 8. 5,000 SrT)eS Deods DA HYE. ©B0DS ol Bew 10%.
o&LE oo #HEDS 5 Bépre D0 HEDSZ 8§ oSol.

WX
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FACULTY OF COMMERCE
B.Com,, III-Semester (Regular/Backiog) Examinations, December-2023
(2019, 2020, 2021 & 2022 Banches)
Advanced Accounting

Time: 3 Hours Max. Marks: 80

Section - A (Short Answer Questions) 5 x 4=20M
Note: Answer any Five of the following questions not exceeding 20 lines each in case of theory questions.
St 00 2t D0 B FPOD SR 20 JoFok WS Orod [$HOD) T (Frawi.

1. \What & Goodwill? aM
KNS sdrredn?

2. Bonus Shares 4M
SO e

X Super Proft 4M
SRS

4. Partnership Deed 4M
TR s

S. Ram and Shyam are partners sharing profit and losses ratio of 3:2 Raju admitted 1/5 share in the profits
calkcutate new profit sharing ratio. 4M
=5 Dt % SERJow &2 %gd‘ SoHHotrdH, Ter O PSS iR 1/5 SoH TerH

SES gD Aphenh. sans IS PRI JerSodH SHTIl.

o

Calculate fair value of share (o Deod SHS® i DS SHFI0L). 4M

(Rs)
Value on the basis of the net assets
A we SFBS T Do 125

Value on t he basis of the yield

ol S33S° oo DS 140
<

Paid of share value

3009 5333 Ter dwd 100

7. The following are the profits of a business for 3 years are 2007- Rs.70,000; 2008— Rs.60,000;
2009 Rs.80,000. Calcuiate Goodwill of the company at 2 years purchase of average profits.
..*5.,\5 :50;3 @) oo DSoeen: 2007- ergfo &mn.70,000; 2008-ergfo S 60,000; 2009- ergfo

&=n.80,000. HEDSD Bod JoSFHore FTde S5 ergre SHFfoore grdod 88oSol. 4M

8. XYZ Ltd. issued on 10,000 shares of Rs.100 each payable at Rs.20 on applications, Rs.50 on allotment
and the remaining balance on call. Applications were received for 9,000 shares and the shares were duly
aliotted. All cash dues on allotment and call were received. Write the journal entries in the books of
company. 4M
XYZ 0285 eS5%8 8m1. 100 SE)S 10,000 artrod &b 3Dod. FERD & 20, SeronoPD
S50, DADIE DevHoD IRoIIBH. $EPRD 9,000 srerence Bowd Serowod BoHho asBASE.
FiranoP DooHed oSodS Indo Idrw sawSd. %03 Hsous® DepSigen oeehod.

Page..1 of 5

Code: 549/ET/R/BL
Section - B (Essay Answer Questions) 5x 12=60M
Note: Answer the following questions in not exceeding 4 pages each in case of theory questions.
BrdS: (B0 Bl 68h ovd8 4 Do DoId REod EHOD) woe @D,

9. a) How do you deal goodwill when a new partner Is admitted into a partnership firm? Explain. 12M
HrSiS e Sodts (558005 HEISH BEOD DY, ool
OR(Bc)
b) ;‘Igzezfollowlng is the balance sheet of A and B (who share profits in the ratio of 3:2) as on 1% Janulazr\r/é
A %0d B en 3:2 {BS* ergroH SohHotnd) grrigen 1 @s50, 2022 6 0 eeo S8
& Dgore dod.

Liabilities (e:)eo) Rs. Assets (o:5e0)
Creditors (99¢ mweardeo) | 1,00,000 | Buildings (gSmren)
A Capital (A SaregSo) 1,00,000 | Plant and Machinery (roen 8ds» abo(@ren)
B Capital (B Swersso) 1,25,000 | Stock (3&%)
Debtors (exea(i$en)
Bank (erg0%)

3,25,000

On this date, C was admitted on the following terms:

2 883 C % & (808 dmodSeP oI SoHam.

i) He has to pay Rs.1,25,000 as his capital and Rs.50,000 as his share of goodwill for 1/5 share in
profits.
©3% &rn.1,25,000 Soreiso Ern. 50,000 HEDS K)og ergrod® 1/5 Sod SrobHeHrrd

SHoead.

il) New profit sharing ratio will be 5:3:2.
JrSS ereYB 5:3:2 ™ doenod.

iiil) The assets are to be revalued as under:
Buildings: Rs.1,25,000; Plant and Machinery: Rs.60,000; Debtors: Rs.47,500.
oRen & (8o dFSore @.f)drge;oémo Baseo:

giSaren: Ern.1,26,000; Jrotn HBSH cHolgren: & 60,000; zmmu{:(gm: Boon.47,500.

iv) It was found that there was a liability for goods receiving but not recorded in books, Rs.7,500.
Give the journal entries to record the above. Also give the balance sheet after C's admission.
S50 st SomoBodS 617,500 erd JoSSed €08 8b YT $Ard SBH.

? ;szsa’:;’ﬁu-o& au;éd)nm B3IeHDID, IS ogo_sémo a’bén§:n Sasreds Scasosm.

10. a) Explain various modes of Dissolution of a firm. 12M
8 gringhy S0P 56 BadHs AWgirod 57080k e DSBoTol.
OR@)
Page.2 of 5
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o HE
b) Balance Sheet of A and B as on 31 December, 2022 is shown under.

5 56, 10,000 artroborei SIS Goartants DEGBOTEISE,
31 &ooS. 2022 =8 A 5H0a» B © o) oo & & 808 Do %P, 12M 35,000 artroH S8yrden .‘\)5§60{5L‘.§ T Dy . Z&OUA“
Liabilities (egye) - Assets (o3 15,000 aréro S8yeR0%H 10,000 TeroH Biranod, DRer TErodH SIS FErinos wohdtomrt.
Sundry Creditors (295 awaoe&$w) = Machi ¢ ! E FBES Botd DenHOD DOOTEH. 8 Terordld 500 srtro Bod denHo Do 3PoIB,
1 rs i 8058
| gy nLn/ ® : ) R Fa ey ((:Mm) 3,00,000 SEBFSorr B 86y Ih, 200 Tero LIPS 680 o TYS 300 =b Iv>o. =83
| B Loan (B aosy & 080 | RS (oot 50,000 SomoBodis piym &, 15,000, S62d BIT0E® OSHEWN DpdEut Tabol.
| A's Loan (A &%) &) 25,000 | Stock (3%%) 150,000
| ral Reserve (orten Sescoy) 25,000 | Debtors (aww(fgen) 1,00,000 12. a) What do you mean by Profit Prior to Incorporation? Explain the methods of computing profit pﬁo;zt;
[ -) Provision for Doubtful Debts incorporation.
Capital Accounts. % o
| Capital Acounts (Sxrods gremen) &i. So3asngS erbez Some 5,000 SBrH% 00t orgo BITAD? SINHH 0o oogrY BB DG JEHeH 58Il
‘ A 2,00,000 1 95000 OR@c)
B 1,50,000 | 3,50,000 | Cash (3r5&) 55,000 b) From the information given below by Anil Enterprises Ltd. prepare profit and loss statement for the
6,50,000 6,50,000 year ended 31% March, 2022. 12M
A and B were sharing profits and losses in the ratio of 3:2. They dedded to dissolve the firm on the RS 005 @ES ODBE 6 & 808 FEPTTRY LoBHIYD. 31 &rQ), 2022 & wosHdy

date of the above Balance Sheet. The assets realized are as follows: Machinery: Rs.2,50,000; Stock:

BoSEoe0s M:Sb;u 3055 oS BaHold.
Rs.1,25,000; Debtors: Rs.90,000. B took over Fumniture at Rs.40,000. He also agreed to pay B's Loan.

The Sundry Creditors were paid off at a discount of 5%. During the course of realization it was found Sales (siyseen) 15,00,000
that a bill for Rs.25,000 previously discounted by the firm was dishonoured and had to be paid ; i
realization expenses amount to Rs.10,000. Prepare Cash Account, Realisation Account and Capital Inventories (01.04.2021) (sAgot:ben (01..04.2021))

Accounts of partners to dose the books of the firm. Raw materials and stores (2n& Soegren Dbao ¥E)) 1,00,000
A $0a B oo oo 3:2 3HS* SodbFotwmyh. D e e 38 885 Sogo 5 Work-in-progress (Sa586° &) 35%) 40,000
BaPoDHHITNGD. shoDH olyre & (80d Ivsser SIPBIrow. adoigren & 2,560,000 $5%H Finished goods (r8re $a$B3 SHen) 1,98,000
&n.1,25,000, ewsi$den &ei.90,000. 3”5:1'55 8e1.40,000 % B é:»&an&. o3 B Gwg ed Purchase of raw materials ($»& K)l:r'q;o 5‘5»5%‘)) 9,00,000
BOFID YD, eveTrSe 5% TP A0S IPoTh. SOBSEY BHaHos® Kri. 25,000 Salaries and wages (f&ren 58050 S&cren) 60,000
$00050DS &8 TAHES Dy HTELHD HTob. ©8 IPoSSod XD, JOAYW P Payment to auditors (s&&5% 390%) 1,08,000

&u.10,000. éoé Do Srh SaHeos BIIEDS S5 e, HOAYS grevd HdA z,w({go Interest on income (5(2. ©T°6H0)

50,000
S0 prerod e Sahol. Dividend received (59y 8320&) 70,000
11. 3) Deﬁge Equity Shares. Write the cgsﬁncﬁon between Equity Shares and Pr%ference Shares. 12M Loss on sale investments (oo esygod $50) 10,000
éaé{s TerodD 36560605.. &55 Teero HBAH sbésé) TeEroH 5:55 Grod orabhol. Interest on loan taken (5% :S& S{QD_?_ §é) 10,000
- ORG ‘ Depreciation (scoree) 1,20,000
b) Sh]aarr;d?h ?ﬁa%e%ﬁ;e:s tf!:) Iﬂigubhc 20,000 equity shares of Rs.100 each at a premium of Rs.lolg:: Managing Director's remuneration 320k gvgs 88°n%0) 56,000
Soies Sodh DBE 20,000 K:8yd Trered eEYPRS G100 S &0 10 BDabos® [Baed Other information (288 S&irargsn):
53508, 320% 55 Dgrso & 80B DGore &R, i) Inventories on 31.03.2022 (31.03.2022 =8 =3gobben)
On application ((8gr5D) 20 Raw materials and stores (sn& Soropes SoBaso FBY) 60,000
On allotment (including premium) Work-in-progress (Sasr86® &) $5%) 50,000
Seravoyd (Bddbo Swpen) 0 Finished goods (r8re $as»8% SikaHen) 1,52,000
On first call Go&® Den) 25 i) Provision for doubtful debts Rs.36,000
On final call (956 Sengy) 25 SoFars erdo 8% domen &ru.36,000.
iii) Provision for taxation to be made at 50% of taxable income.
Applications received in total for 35,000 shares, applications for 10,000 shares were rejected, those S8y DBOIEIH eTraHoP 50% Sy duptn Sahod.
totalling 15,000 shares were allotted 10,000 shares and the remaining applications were allotted in iv) Payment to auditors includes Rs.18,000 for other services.
full. The directors made both the calls. One shareholder holding 500 shares failed to pay the two 6lbH% T3 3D0H* ass DIoH DS 3DoH ™1, 18,000 aHA azmo.
calls, as a conisequence his shares were forfeited, 200 of these shares were reissued as fully paid @
Rs.80 per share, expenses of issue came to Rs.15,000. Pass the necessary journal entries in the
books of the company.
—
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13. a) Explain various methods of valuing goodwill of a firm.

HEDS 8803 2% S'J(géw?\’n DXBoS0A. e
OR(8wr)
b) The balance sheet of Sai Ltd, as on 31 March, 2022. 12M
31.03.2022 =8 dHBE sRofe 58§ & Bod dorr a8
Liabilities (oen) Rs. Assets (uiyen) Rs
g‘:;o 2,000 Preference Shares of Rs.10 each
0 5,000 ©8%5) areren B Goodwill
50,000
&P.10 Sy s o
i?)'g?)o qui Shares of Rs.10 each Fixed Assets
;000 &8 aeeen a8%H8 ixe i

1,00,000 | o, ot 1,80,000
& 10 S e
Reserves (including Provision for
taxation Rs.10,000) Investments (5% Govt. Loan
Besthgen ($898%S0 domyew &mi.10,000 1,00,000 | 3¢5e0ee0 (B‘SA: (808 o) ) 29,990
Eod ST)0w) "
8% Debentures (8% &80:$%) 50,000 élg)rgn; Qs;ets 1,00,000
Creditors (ametrden) 25,000 g ?;ig?amréf;penses 10,000

Discount on Debentures
&BosSEp A0 5,000
3,25,000 l 3,25,000

The average profit of the company (after deducting interest on debentures and taxes) is Rs.31,000.
The present market value of the machinery included in fixed assets is Rs.5,000 more. Expected rate

of return is 10%. Evaluate the Goodwill of the company at five times of the super profits.
B0 BKren erglo (BBoSER éé SB35 Hinen MIFFoWoDS Soge) Brn. 31,000. ?gm‘@e)és Eod

&) cholgre Jend &) Dend o8 &ri.5,000 &8&5 Qend BOA IB. ©80DS voal Béw 10%.
0&HE rgroDH HEDS 5 By 5rlod HEISH B88os0d.

TOPR
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FACULTY OF COMMERCE »
o E: inations, December-202 ‘
BiGamy Semeste:}(o?: g‘ff;g&)zo’;f ll;:xlt'c‘hes) i b) Represent the following data through a Histogram. 12M
Business Statistics-I (80B SevomR FIS YFEI0 oo Bodod.
Time: 3 Hours Max. Marks: 80 Marks (S»Ge0) 0-20 | 20-40 | 40-60 | 60-80 | 80-100 |
Section - A (Short Answer Questions) 5 x 4=2TM No. of Students (@ogo Sowy) | 7 | 14 | 22 7 1|
Note: Answer any Five of the following questions not exceeding 20 lines each in case of theory questions.
FRS (800 TS DD 0 (HHOH £EH8 20 SoHoH Mo (vepos BHOH) ase (@eaSun.
1. Primary Data M 11. a) Find the Arithmetic Mean from the following frequency distribution by (i) Direct Method and (it) Stluz)‘b}l
| s Ssvo Cut Method.
e (808 F$:35 Deresing® eoSHEFPY SHESL () B 383 Hda () &5 53 wos
2. Limitations of Statistics M DFERY SHFeS08.
BT SR Marks (&rGe0) 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 5060 |
3. Present the following frequency distribution in the form of Pie diagram. aM No. of Students (oo Soxy) | 10 | 20 | 50 | 60 | 40 | 20 |
(8od F:9%5 Sodd O D (Pie) o§ Eros® Busol.
Food | Dresses | Transport | Books Others | Total Expenses OR@)
Month RBe) (©35550) | (Beo) | Gorw) | (985ew) | (s88wew) | Indo wiy b) Calculate Median from the following data. M
Expenses ('000) (808 Bg20%08* DHEyierY BYoSold.
vy (Em. Sodh) ‘ 1500 | 100 | 5 70 400 100 Daily Income (&°e»ard oarao) [ 0-10 [ 10-20 [ 20-30 | 30-40 | 40-50 | 50-60

Number of Workers (g0 Sosg) | 10 | 20 | 35 | 40 | 25 25

4. Advantages of Bar Diagram 4M

o8 DEI0 (SAreTen
12. a) Calculate Mean Deviation from median for the following series and also find out its coefficent.  12M
(80b Sezodo eErdormr HE5EI0D aSBrA0D P DIoko DB T HesY) B oSo.

5. Following are the marks obtained by 8 students. Calculate the arithmetic mean. 4Mm
200 8 $08 e SRS @oSAAS SHisso BgoSol. Marks (Setyen) |10]15 20 30 40]50]
Marks (S»83e0) 15 19 15 40 35 38 32 28 Frequency @3:9%y) | 9 [13[16]11] 4 [ 3]
6. Dispersion 4M
DBRIRS0 OR@cr)
b) Calculate Bowley's coefficient of Skewness. 12M
7. Find Co-efficient of skewness when Mean: 286, Median: 286.05, Standard Deviation: 32.1. aMm 8 E%) J5oy ey BfeSol.
wof dgiso: 286, Defgiido: 286.05, (rdd DSoo: 321, wowd BNy He¥o SHAS0l, Marks (Smtpeo) 0-10 | 10-20 | 20-30 l 30-40 ] 40-50 l 50-60 \ 60-7011
8. Correlation a No. of Students (Dergho Soxp | 11 15 25 l 38 ‘ 21 i 16 1 8 \
SSSdomotso
13. a) Calculate the Karl Pearson‘s Coefficient of Correlation and comment on the results. 12M
Section - B (Essay Answer Questions) 5x 12=60M 5§ DAY Sirsowots HrsR BYoSod. $0S0D TgwgRoSod.
Note: Answer the following questions in not exceeding 4 pages each in case of theory questions.
FrSS: (800 (SHo ebf s 4 Do oS (depod (BHo) savo (@dhosn. Hushands (ges) 120 | 30 [ 40 | 50 l 5 l 2 1 o
Wives (erdges) | 14|25 (30 |32 | 40 [ 45 [ 65
9. ) Define Statistics. Explain its importance and limitations. 12M
Heaol avgod §DoDHED, T @ty @'.i\»ugei 505 S0 Bosols. OR@c)
OR(Bc) b) Find the Rank Correlation Coefficient for the following data. pVAN]
b) Write about the distrust of Statistics. 12M 800 dgzodo wgrorm 88 SiKonol e BoSoL.
Aol aFop eIBBYTR) H00D Tdhod. [x] 48] 587262564539 5225
Y
10. a) Explain general rules of constructing a graph, 12M Lries[mes|zof3e]5elen 1322
D@Sere Doyeod® FBoodys Ferdm Dwotites @ Hod. »é
OR(Bcr)
Page.l of Page..2 of 2
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FACULTY OF COMMERCE
B.Com., III-Semester (Regular/Backlog) Examinations, December-2023
(2019, 2020, 2021 & 2022 Batches)

Business Statistics-I
Max. Marks: 80

Time: 3 Hours
5x4=20M

Section - A (Short Answer Questions)
Note: Answer any Five of the following questions not exceeding 20 lines each in case of theory questions.
ISE (80D T6° DI ot (FHOD &YooV 20 JoHeH WoID BIpod BHHED) wTEs (FawE.

1. Primary Data 4M
(D>PDE Sgrodo

Limitations of Statistics 4M
S8 aog S0deden

3l

Present the following frequency distribution in the form of Pie diagram. 4M

(808 FS:9%5 Sodd D D (Pie) 0§ &rSos® Bobol.
Month (Be) Food | Dresses | Transport | Books Others | Total Expenses
o (s3%60) | (SiFe) | (o) | (sen) | (astioe) | Dwdo aey

mﬂ:@;‘)] 1500 ’ 1000 ] 500 700

Lad

400 4100

4. Advantages of Bar Diagram 4M
b DYES00 (BBeesTren
5. Following are the marks obtained by 8 students. Calculate the arithmetic mean. M
808 8 Hobd Dorgho érd)&ose ©oEKBS Hggo B80S0l
Marks (s=tye0) 15 19 15 40 35 38 32 28
6. Dispersion 4M
DRSO

7. Find Co-efficient of skewness when Mean: 286, Median: 286.05, Standard Deviation: 32.1. M

®0% DgsSo: 286, Do 286.05, (S8 DIoS0: 321, ®awsS B85 1080 EDRPI0l.

8. Correlation 4M
JSSomoo

Section - B (Essay Answer Questions) 5 x 12=60M
Note: Answer the following questions in not exceeding 4 pages each in case of theory questions.
DIE (808 (SHeo a,§‘; o°08 4 HoH Do (:)u‘;oé (BHoBH) sy (Fedtwdo.
9. a) Define Statistics. Explain its importance and limitations. 12M
Hero8 &PoiH DGgDoDHE. ool Bk @-;‘mqygé HHbain 58D BoJok.
OR(Bcr)

b) Write about the distrust of Statistics. 12M

ferof FgoD ©338ys°R) HBod orabodl.

10. a) Explain general rules of constructing a graph. 12M

DESere X)c'gt:oé‘ FBoTrdyS Forbe: JooSew BoSol.
OR(@ce)

Page..1 of 2
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22

b) Represent the following data through a Histogram. 12M
808 SeomY B8 YFS0o oxo° Bodol.

Marks (S»&en) 0-20 [ 2040 [ 40-60 | 60-80 | 80-100 |

No. of Students oo Somy) | 7 | 14 | 22 7 | u |

11. a) Find the Arithmetic Mean from the following frequency distribution by (i) Direct Method and (ji) Short

Cut Method. 12M
808 2“5:@;‘)5 Dgrassns® ©0SHGEird) SHFrSol. () L;’:ég:,ge SBa (ii) &858 ::ga 08
DErY SHFSE.

Marks (Srte) 0-10 | 10-20 [ 20-30 | 30-40 | 40-50 | 50-60 |

No. of Students (doms&o Somy) | 10 | 20 | s0 l 60 | 40 | 20 |

OR@cr)

b) Calculate Median from the following data.
808 Serodos® DFgEry BYoSold.

Daily Income (s'e»=»d s=$0) [ 0-10 | 10-20 [ 2030 | 3040 | 40-50 | 5060 |
Number of Workers (s-gje Som) | 10| 20 l 35 ‘ 40 ll 25 | 25 |

12M

12. a) Calculate Mean Deviation from median for the following series and also find out its coefficient.  12M
808 Serodo egrsorr ﬁ)%ﬂém:& AS@BrA0D &65& DSodo Hdcko = Kx:?ﬁ B%oSol.

Marks (Sden) [10]15]20]30]40]50]
Frequency @%=5%0) [ 9 [13[16[11] 4 | 3 |

OR@)
b) Calculate Bowley’s coefficient of Skewness.
a8 Gw8) I8y toeaseR) B&oSol.
Marks (&=Ge0) 0-10 | 10-20]20-30 | 30-40 [ 40-50 [ 50-60 | 60-70 |
No. of Students (dogo Soxy) 11[ 15 ] 25 l 38 \ 21| 16 | 8 |

12M

13. a) Calculate the Karl Pearson’s Coefficient of Correlation and comment on the results. 12M
5 bdﬁlios IS0 K)as&& 35;060&. 3080 SgagRosol.
Husbands (s%ge») | 20 [30 [ 40 [ 5060 [ 70 [0

Wives (e8y) | 1425303240 |45 |65 |

OR(B)

b) Find the Rank Correlation Coefficient for the following data.
808 Saodo wprdore 58 $Honos HasR) B oS0l

[x] 4815872762 56(45][39]52][25]
[y[63]7865]70(38 (54 60[32]28|

»éR

12M
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Time: 3 Hours

Code: 16
FACULTY OF COMMERCE MRVBL.

B.Com., V-Semester (Backlog) Examinations, Dacember-2023
(2010, 2017 & 201% HNutches)

Cost Accounting
Max, Marks: 80

Sectl
Note: Answer any Six of the followin
Her 8, (Boty ern)

1,

2

3.

[

<

10,

on - A (Short A Questions) 6 x 5=30M
S 0 questions not excesding 20 lines each In cage of theory questions,
B0 wth (S8 nEbrOE Y0 2 : g '

s (D48 0 Bernd 20 Buie) odn ek (i) merm) (§rdhmin,
Cost Ve, Price Cogoitin Vs, 66)

M
m M
Corst Centre (gt Beqzio) 5M
Time Booking (05 knboh) M
Manufacturing Account (e xree) 5M
Incomplete Contracts (winslp Al rEen) 5M

for the aiven data find out the amount of sales.

Ditect matenials: 1s, 24,000, Direct wayes: 116,16,000; Factory overheads: 20% of the direct wages;
Aaministeative overtieads: 10% of the total cost; Net profit; 20% on sales, )
EA3g5, St thrn, YA 00, (558 Bbbimars, o, 16,000 Db 6B T (g, Bbiresth 200,

ety WGBIrEen Snd Syt |O%; DEG e, wigres ) W wigre Bl 0G0k,

From the following detalls, computs (1) Reorder level and (1) Minlmum stock level,

Budgetsd consumption per month: Maximum: 6,000 units; Minfrmum: 3,000, )
Estitnated delivery period: 2 1o 4 weeks M
Bty Dires Lok (1) BOA ugﬁ B r'),;un b () d?)ﬂ B8 r“}:un i Rdoiioh,

Asbes kIS DT s, A0y 8,000 ohrtigy, 80 3,000 ortiky,

il S BOLE e U ool A iroren

From the following Information relating to the process A for the month of March ’2077,, PIBPArG process,
account, Matenals: BOO fons; Cost of matsrials: 18100 per ton; Wages: 116,24,000; Mnnurm),u_rlna
averhieads: 16,108,000, Normal logs: 10% of Inputy Serap valus realized: 16,120 per ton; Output: /'0'2
tons, i
ﬂ//‘ﬂ)’uﬂ,’ WO kallagpaar, k'ut.‘;/‘ﬂﬂ;/f) G, bty G, VO, Stkiren; trn, 44,000,

Sl LRIy i, LB O00; Proetine gy, WO 10, otk Denty, bailipf o, ) 400

/h"ﬂ,’ 700 ',I/I{fu,

Giiven M
Direct labour hours (g8 (#2) Aokn) 12,000
Machine hours (iAo Buken) 3,000
Nurber of units produced (hdgs Basmbis oy, iosg) 20,000
Dlrect wnges (1hdus Sebrren) 11,3,00,000
Factory ovetheads 1o be absorbed (Asor) Botmith Bgh 6Barten) 5,090,000

Find out the overhead absorption rates under labour and madnzm nlmmorls.
(e titutin SRS Cukir Gyt &0 TrE absorption Beytn BT iOn,

Paye, | of 4

= et s

Code: 161/ET/BL

81258

Section - B (E stion
Note: Answer th following questions In i g ionddc 3 3 ¥ 10uom

not exceeding 4 pages each In case of theory questions,
it (Bob (4ye0t6) r.,s‘l' DB A Yoty Doun (epot (;“;4{;]:&) MEPED (Frdhndm, e

11, a) What I Cogt Accounting? How Is It different from Fi
4 It Lfrom Financlal Accounting?
30 WA woll Diney Rl WIPOBOR okl der Bigore Mfmu&'l i
OR(Bcr)

b) Explain the classification of costs with sultable examples,

p 10M
BN berdrtgent Ggtires B8 DEBOLOE,

12, 8) Discuss the various methods of pricing the material Issues
giving thelr sultabliity of application,  10M
bl wrbus 46 tigancd b Aoty ey wiibas Gk, witskresi -u&m‘?gu Aobol)
oo,
OR(Bcr)

b) Find out the Economic Order Quantity and Order Schedule for raw materlals and packing materials
with the following data aiven to you,

Cost of ordering; Raw materlals; 151,000 per order; Packing materials: R8.5,000 per order,
Cost of holding Inventory; Raw materiala; 10 palsa per unit p.m.;

Packing materials; 50 palsa per unit p.m,
Production rate; 2,00,000 units per month, 10M

B985 wobiots Bots Bhrad guh Boropen b0 eBoft HAOGGY o Serms 6B B6Zre0

“bdin wyh Wi Bl

wgOOR G0; dint, Gergpen: G, 1,000 66 WO, Dol 2boondy b, 6,000 L, wgbt,

SPOOR erponb Gyt Gt Aeropen, Gt 10 P pam.; o DAOSy darss
0 paben p.m.; eyl Bear, By 2,00,000 dhriey,

13, a) On the basls of the following Information, calculate the earnings of workers A, B, C and D under
Stralght Plece Rats System and Merrick’s Multiple Plece Rate System,
Standard production per hour; 40 units; Normal rate per unit; Re,2,
Actual production In a day of 8 hours; A: 300 units; B: 320 units; C: 350 units and 0: 380 units,  10M
Bob) idinarto werbore, (oms 4% 86 G0 obutin 2u08) s % B B o wiyhe A, B, C
Lbuin [) eerdimei LUV

10k (SrirBE iyl A0 dhmDey, Smtests Meortie Bus, tomi, 4,
B Hotae Eheve emiss ayh (Smingoty A 300, B: 320; C 1 350 fbatim D ; 480,

OR(8cr)
b) A company has three production departments A, B and C and two service departments X and Y. The
overhead distribution summary gives the following detalls, 10M

w BoHHB Gumi Ayl Dirrren A, B 5009 C Hbain Both fir Diprren X fbdin Y BTy,
LB Botid Brorodo (8o Dot Wb,

(Rs.)
15,000
16,200
15,600
5,400
3,800

<XNT>
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The expenses of service departments are to be distributed using the following bases of

apportionment.
L7 Seermo B (B0 DS egdor Sobd Sdbateron.

st L) st

A B  C[XxX|Y
[X]20% [ 30% | 40% | — [ 10%
LY |30% | 20% [30% [20% | —

Prepare a secondary distribution summary under Repeated Distribution Method and Simultaneous
Equation Method.
Sobd 558 Hoam Simultaneous sbretem 558 808 esbad Sobd 2385 Sart Bdkosn.

wsond
14. a) What is Job Costing? What are its features and advantage? Where is it applied? 10M
W@bw?womeQM?aboégﬁW?
OR@c)

b) From the following cost data are available from the books of Avyukth Ltd., for the year ended 31
March, 2022. i0M
31 08, 2022 & ZoABS BoSHTIL, o5 DWBE HITe ok Bod Lxbdb Sodd 2368 Sars
Satom.

. (Rs.)
Direct materials (S5 288054) 16,00,000
Direct wages (&8 S8~c) 10,00,000
Factory overheads (=36 £352-8) 6,00,000
Administrative overheads (583035 £365278) 4,00,000
Selling overheads (653 £35278) 1,20,000
Profit (a90 3 o°go) 25% on cost

Prepareacostsheetimi(ztingmeprimecost,workscost,produd:ionoost,coﬁofsalesandsales

velue.
In 2022-23, the factory had received an order for supply of goods. It is estimated that the direct

materials would be Rs.12,00,000 and direct labour would cost Rs.7,50,000. What would be the
quotaﬁonpn'ceformsegoodsifﬂlefactoryintendstoeammesameratzofproﬁtonglesasmme
previous year, if the selling overheads and factory overheads have gone up by 10% and 20%

12gE :gmo (0% Zpabo, 85)3 Spdbo, siysmo IbIn HBAD o Jwdb #P00B Zgab
2Ze5H Sart Sais.
2022-23 & 3568 S 5650 S0 6gb Spb. (BIE AOHE) Bri.1,20,000 LoD SEE,
(D8 S 6. 7,50,000 Sogrbo nHBh Hosgpod dEareR of ogro T efoTrod
oTUh, sigEs L5b2rEm Hod Jygh L362Ew Swdm 10% Hbdm 20% BOAB, & 3B
SELS 56 Jodrr éotmob.

15. a) A product is completed in two processes A and B. During a month, the output to Process-A of the
basic rew material was 5,000 units at Rs.2 per unit. Other information for the month is as follows.
A ZBdin B 67 Bol (HEd0l’ 28 e88 5508, 8 Bod, (PG fmld Sordo BB AR
5,000 diardip. drnSh Gon.2 © THS (BEFDEE,. Bokb Boo0pols B8 Hirarto Bod Do

aob, 10M

Page..3 of 4

Code: 161/ET/BL

B
Particulars (D350men) o i '1'5‘_.:;‘.‘ ‘l
Output (units) (688 drdas®) 4,700 4,300 |
Normal Loss (% of input) (3=t S50 2556° %) 5 10|
Scrap value per unit (Rs.) (cordS% (75 Deod &omir.) 1 5 |
Direct wages (Rs.) (585, 38men &mn.) 3,000 5,000 \
Direct expenses (RS.) (3%, ptyye &m.) 9,750 9,910 |

Total overheads Rs.16,000 which were recovered as percentage of direct wages.

Prepare Process Accounts, Normal Loss, Abnormal Loss and Abnormal Gain Accounts.

Zwdo £.5627E) &1 16,000 (B8E S0 Tdorr Sirod Babocya.

SBdo e, Forom $Fo, eFrIn SHo Hidn oFTin ogro preroh et Sdmdn.
OR(8cr)

b) Akshara Constructions Ltd. undertook a contract on 1% April, 2021 for road construction. The contract
price was Rs.10,00,000. At the end of 2021-22, the company has received Rs.3,60,000 representing
90% of the work certified. Work not yet certified has cost Rs.10,000.

Expenditure incurred on the contract during the year was as follows:

Materials: Rs.50,000; Labor: Rs.3,00,000; Plant: Rs.20,000; Materials costing: Rs.5,000 were
damaged and had to be disposed of for Rs.1,000. Plant is considered as having depreciated by 25%.
Prepare contract account for the year ended 2021-22 in the books of the company and show all
possible figures that can be reasonably credited to profit and loss account in respect of the contract.
o505 S5BES) DDBE 1 DS, 2021 3 T Dogmo o efpso Fbod. sorf 56
&e1.10,00,000. 2021-22 D50 B8 Sod Gm.3,60,000 GdEE 306° 90% (F80gg0 SIiR0b.
zos° (§oDEBOSD 5 &en.10,000.

BosEBot® sirEp I H5abo (Bod DGore ot: BABAHEY Een.50,000, F: Gmi.3,00,000;
Foi5. E1.20,000; AE) &m1.5,000 FEFrr E71.1,000 o eSry. Fol5 25% §20056p
LorBOSDES0B.

S0 Hsod® 2021-22 & SoABS HoSFTNE Toltrf Fremo hio Babol LB THrEs

Bopogod ooy Hbdn So e SErdotorr abidlio o) erosoid Srdol. 10M

WIR
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Code: 759/ET/R/BL
FACULTY OF COMMERCE ad

B.Com., V-Semester (Regular/Backlog) Examinations, December-2023
(2019, 2020 & 202] Batches)

Cost Accounting
Time: 3 Hours Max. Marks: 80
Sect_‘im-A(Shott‘ Q jons) 5 x4=20M
Note: Answer any Five of the following questions not exceeding 20 lines each in case of theory questions.

TIX S0 =0 30 o BEon B0t 20 FoRo% oI (hzod BHpS) eorw (P,

o

Scope of Cost Accounting (53 eTo80k &Y 588)

M
2 EOQ M
3. Over Absorption of Overheads (e362rEy sz 5) 4aM
4. Job Cost Sheet (end =5 &) M
5. Abnormal Loss (s>t =Zo) M
6. Variable Cost (38 Sgebo) aMm
7. Halsey Plan (558, Barlg) 4M
8. Features of Process Costing (3% s7ofi @w¥) ofsren) M
Section - B (Essay Answer Questions) 5x12=60M

Note: Answer the following questions in not exceeding 4 pages each in case of theory questions.

e MWLQMS4%MMWW§)MW&.
9. 2) What are the essentials of a Good Cost Accounting System? 12M
0D Hds e obof @nE) FovoTes Db?
OR@Ecr)

b) Explain the objectives, functions and limitations of Cost Accounting. 1M
T sZofch &Y o5, Db Hbdin SBDSHOD DSBoSol.

10. ) Brefly explain the various inventory control techniques. 1M
20g B daboidn SgHel Slomr D5boSol.
OR@cr)

b) Prepare stores ledger as per Simple Average and Weighted Average method of pricing of issue of
materials. 12M
hecido b8 §6 Dot Ferdn Bitn DB grBE Biitn 368 (S5°60 ) BELED hgo
Eaool.

Date 32) Details (350ve0) Units (aidép) | Rates (§5e0)

01.04.2020 | Opening balance (&-6og Dex) 5,000 Rs.50

03.04.2020 | Received (sothgob) 2,000 Rs.60

04.04.2020 | Issued (=8 Eabolos) 3,000

06.04.2020 | Issued (=8 Edbolod) 2,000

07.04.2020 | Shortage (5°85) 100
08.04.2020 | Received (soh%08) 3,000 Rs.55
09.04.2020 | Issued (=6 Scoelod) 2,000

Page..10of 3
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11, 3) Desaibememethodsofallom‘ n of
Lotint, % b tio (3( ov‘emeads. M
OR(@cr)
b) Three workers A, B and C works in a production unit. The following particulars are given below:
Normal rate per hour: Rs.4; Piece rate per unit: Rs.3 and Standard output per hour: 20 units. In 2 50

hour week, the production of the workers is as follows: A: 500 units; B: 800 units; and C: 1,300 units.
Calculate the eamings of the workers under Merrick’s Multiple Piece Rate System and Straight Piece
Rate System. 12M
0 SOoes A, B %0di C 2.8 adp chrdiSet 3083t Do 808 atgprran.
Ffobh Ferde §6: G 4; drnlh 5% Beo: tom.3 b Hobb (>ErBE 455 20 darDen,
50 fiobo 806 o eB : A: 500 GErdeg; B : 800 drdep HBcko C: 1,300 cbrden.
208) %998 55 85 558 Hodin GonsS 5% TS 348 806 sgibe sodiro 28p5ca.
12. a) Define Job Costing. Explain the features and objectives of job costing. M
e SRof% DsDoSol. evd s730F @08) ofmrois HBdn oo D5Bosol.
OR@Ecr)
b) Prepare a cost sheet from the following data. 1M
808 SSrarbo Holk Sgad 2308 Sarto Sabol.
Details (dSoren) (Rs.) Details (3Sc~en) | (Rs.)
Direct material costs (Sg58 2&6a08 pien) 1,00,000 | Factory rent (3558 &) I 4,000
Direct labour costs (g5, (35 mtizyeo) 95,000 | Camiage inward (6°50 =38) | 1,000
Indirect materials (6%, A6ans;) 5,600 | Bad debts (o erden) | e
Power (£8) 6,000 | Printing and stationery ] 600
Depreciation on plant and machinery BodoR Hbatn Hsb {
Zot5 HBatin dbolered St 12/400 | | egal expenses (s5625 vége) | 500
Depreciation on furniture Postage expenses |
$6)56 s Scrodse 1600 | (33mer pispyen) [
Carriage outward (eab88 s%3&) 1,500 | Repairs of plant and machinery |
Salesmen's expenses (&S ptyen) 4,000 | 085 2B abogro HSIyHen | M
General Manager's salary 006 Advertising (S5&35e0) | 1,000
Forde H3ub £so " | Factory Manager's salary 26560
Audit fees (@265 $es) 3,500 | 556 Db dso '
13. a) Following are the details in respect of process accounts. 12M
@28 greroD 500090 & 808 DSoren aTmom.
Particulars (DSove0) 1 n m
Materials (1,000 units) &6c&) 1,000 arde) 20,000 — -
Labour ($%) Rs.72,500 | Rs.40,800 | Rs.10,710
Weight loss (259 85eo0) 5% 10% 20%
Scrap sold at Rs.50 per unit .
(S5 GEPHSS G50 PGS DSavost) SOunits | 30 unhs | 51 units
Transfer to next process (8538 (2% 0dd3abol) 23 1/2 -
Page..2 of 3
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Balance is sent to warehouse for sale. Show processes account.
u-éa§) 9;3)&9.!)5 l\gof\S $050tH&08. (N Yravd SrdoSol.
OR@c)
gineers:

The following particulars related to a contract under taken by Raj En

Materials sent to site Rs.85,349; Labour engaged on site Rs.74,375; Plant installed at site Rs.15,000;
Direct expenditure Rs.3,167; Establishment charges Rs.4,126; Materials retuned to stores Rs.549;
work certified Rs.1,95,000; Cost of work uncertified Rs.4,500; Materials in hand at end of year
Rs.1,883; Wages accrued due at the end of year Rs.2,400; Direct expenditure accrued due at the end
of year Rs.240; Value of plant at the end of year Rs.11,000; The contract price has been agreed at
Rs.2,50,000; Cash received from the contractee was Rs.1,80,000. You are required to prepare
contract account. 12M
oo moesdb) &%) eB)ooeds $0208003 8ob JSTren:

256 $053 DEBHS: &rn.85,349; Bob D> &X) PS: T 74,375; 2656° Doz BI

FoeS: &m1.15,000; (BSgE Sgao: 8. 3,167, Dbc'gs"&oes U‘ém: &on. 4,126; %50& 804 SIS
2B8cHS) ru.549; §)DEO0DS SI: Em.195,000; 5)D5603D $2: &mu.4,500; BoSHTroewds 386°
a3 Z‘bébcﬁ)d;): 1,883; ﬁoéé)tros‘ﬁé SNS S8aren: Bmn.2,400; éo;‘)é’ao'os-ns 383 @6&5

Sgabo: G 240; SoSHvo D36 B8 FoiS DenS: Een.11,000; SPolEr§ soAsBoSolod:
&»n.2,50,000; 90(_6."5 oot S0l ©otHE) 5K¢: S, 1,80,000. s 90@-5 s ) bgo BadHod.

PR

Page..3 of 3

Scanned with ACE Scanner



o Code: 762/ET/R/BL

FACULTY OF COMMERCE

B.Com., V-Semester (Regular/Backlog) Examinations, December-2023
(2019, 2020 & 2021 Batches)

Computerized Accounting -
Time: 3 Hours . Max. Marks: 50

Section - A (Short Answer Ques@ions) 5x2=10M
Note: Answer any Five of the following questions not exceeding 20 lines each.
SrSS: Bod T0E° DAV 0 HHoH eEHhurdd 20 HoHe WHoD waren (I

1. Tally ERP9 A
2. Basic inventory master in Tally ERP9 (Tally ERP9 & (See 008 aRgoed 536) M
3. Types of Voucher ($8$6 Sseen) 2M
4. Trade Cycle (seedeyg S180) 2M
5. Trial Balance (wo%es) M
6. Debit Note @8¢5 SB¢5) 2M
/. Difference between Stock Group and Stock Item (L8 Dssro Hodakn FE @odo gy H5E590) 2M
8. Day Book (&% 9J%0) 2M

Section - B (Essay Answer Questions) 5 x 8=40M

Note: Answer the following questions in not exceeding 4 pages each.
JrsS: (808 BHo 8% o708 4 Do Do waren (o

9. a) How to create a Company using Tally ERP9. 8M
Tally ERP9 9 63&rA0d 500D der BROTD.
OR(Bwe)
b) How do you create a single ledger in normal mode and advance mode? 8M

D& Ferse BrE B v IES o8 BEED Do HAND?

10. a) How to create Inventory Master? What are the various functions in Inventory Information Menu? 8M
500 HPPED der YROTD? BFELE VEPTE DHE' DS Dehen HWA?

ORBwr)

b) How to creaté a stock item under single mode? List out the shortcut keys of it. 8M
ROAS FrES® AT wBHW do° YRowD? md XL do erdae Scohod,

11. a) What is Source Document/ Voucher? Discuss its features and importance? 8M
6 &0t/ 736 wod DB? wed e $HBAH ErsS0ggs HO0D $8)o$0d.

OREw)

b) How to use a Payment Voucher to record the entry? Explain.

8M
Depod SFrh ToHred8 BPoH SFubH der AHRFPATD? JSBOZOR.

12. a) What do you mean by New Reference? Explain it with an example.
58 0I0F) ©08 dWB? D 28 SIS IHB0S08.

OREwr)

b) What are the :different methods available in Tally ERP9 for starting a new Financial Year? 8M
8 688 $05HTQ) (FEoHoIEI8 Keas ERPY &° worrerinds® &3 D HEEe0 DHE?

8M

13. a) Define MIS and briefly explain its advantages.
MIS Q JgRoPod Ok T (HArRToR o JHB0SA.
OR(@Bw)

b) What is Ratio Analysis? How it is displayed in Tally ERP9. 8M
A8 3% @08 dA? Tally ERPI &° 28 der (DSGosathSod?

DR

8M
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™ Code: 769/R/BL
FACULTY OF COMMERCE
B.Com., V-Semester (Regular/Backlog) Examinations, December-2023

(2019, 2020 & 2021 Batches)
E-Commerce

Time: 2 Hours Max. Marks: 50
Section - A (Short Answer Questions) 5x2=10M
Note: Answer any Five of the following questions not exceeding 20 lines each.
1. What are the advantages of E-Commerce to business? 2M
2. Sponsored link advertisement 2M
3. Operational Risk M
4. EDI Standards 2M
5. Search Engine 2M
6. Mobile Commerce M
7. VPN 2M
8. E-Cash M
Section - B (Essay Answer Questions) 5 x 8=40M
Note: Answer the following questions in not exceeding 4 pages each.
9. a) Compare and contrast the Traditional Commerce with Electronic Commerce. 8M
(OR)
b) What are the key technologies of B2B E-Commerce? Explain the architectural models of B2B E-
Commerce. 8M
10. a) What is Firewall? How it helps in data security? 8M
(OR)

b) Write a short note on (i) Public Key (ii) Private Key (iii) Digital Signature (iv) Digital Certificate. 8M

11. a) What is the difference between debit card and credit card? 8M
(OR)
b) Explain Digital Wallet, Digital Cash and Digital Cheque in detail. 8M

12. a) What is EDI (Electronic Data Interchange)? Explain benefits and drawbacks of EDI process in detail.

8M
(OR)
b) Explain regulatory and legal issues related to EDI. 8M
13. a) Discuss the various marketing tools for Digital Marketing. 8M
(OR)
b) How digital marketing can help business to build up their products as brand? 8M
PR
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Code: 552/R/BL
FACULTY OF COMMERCE
B.Com., III-Semester (Regular/Backlog) Examinations, December-2023
2019, 2020, 2021 & 2022 Batches)
Relational Database Management System

Time: 2 Hour Max. Marks: 50
7 ' Section - A (Short Answer Questions) 5 x 2=10M
Note: Answer any Five of the following questions not exceeding 20 lines each.
1. Elucidate the differences between primary key and unique key. 2M
2. Define the term Relational Algebra and its significance in database. 2M
3. Explain the basic concept of a Tuple in the context of relational databases. 2M
4. Differentiate between Internal and External Schema in DBMS. 2M
5. Describe the significance of a Query Optimizer in databases. 2M
6. Explain the concept of a Relation in relational database systems. 2M
7. Describe the role of Data Dictionary in DBMS. 2M
8. Explain the concept of View in databases and its advantages. 2M
Section - B (Essay Answer Questions) 5 x 8=40M
Note: Answer the following questions in not exceeding 4 pages each.
9. a) Elaborate on the architecture of a database system and its components. 8M
(OR)
b) Discuss the importance of data models in the design and management of databases. 8M

10. a) Discuss the concept of Second Normal Form (2NF) and how it helps in refining database design. 8M
(OR)
b) Describe the concept of Multivalued Dependency and its significance in database normalization.  8M

11. a) Explain the structure and usage of SQL Subqueries with examples. 8M
(OR)

b) Discuss the various types of SQL Triggers and their applications. 8M

12. a) Describe the different types of database locks and their significance. 8M
(OR)

b) Write about Database Recovery and Security Techniques. 8M

13. a) Discuss the challenges and approaches in managing a distributed transaction. 8M
(OR)

b) Explain the concept Client Server Database, state its need. 8M
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